ERFETH YRk 2 1EE REMEEHEELERMerISHBRARHREE
# A - (BAr M)
#* = TR R E | W E B | W AW E | TMAAME | RAKREE | [EPRIRA
1 A& 1, 753, 000 1, 753, 000 1, 753, 000 0 0
1 fhERAL 1, 753, 000 1, 753, 000 1, 753, 000 0 0
2 BEe 4, 094, 000 4, 094, 502 4, 094, 502 0 502
1 Bee 4, 094, 000 4,094, 502 4, 094, 502 0 502
3 A 44, 172, 000 47,123, 345 47,123, 345 0 2,951, 345
1 #A 44,172, 000 47,123, 345 47,123, 345 0 2,951, 345
% & &t 50, 019, 000 52, 970, 847 52, 970, 847 0 2,951, 847
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= H (Bfr M)
i = TR R OB | X W W W | BEEREE w m | LErElX
| FEHRESERAEXE 2, 487, 000 2, 477, 000 10, 000 10, 000
1 RBEHER 2, 487, 000 2,477,000 10, 000 10;000
2 MMEE 47, 532, 000 47, 450, 760 81, 240 81, 240
1 AMER 47, 532, 000 47, 450, 760 81, 240 81, 240
7%& H = & 50, 019, 000 49, 9217, 760 91, 240 91, 240
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